Homework 1.4: Solving Quadratics	Name: _______________________
Directions:  Solve #2-24 even, #25, 26, 27.	Math 3
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25. The larger leg of aright triangle is 7 cm longer than its smaller leg.  The hypotenuse is 8 cm longer than the smaller leg.  How many centimeters long is the smaller leg?



26. The area of a rectangular floor is 105 square feet.  If its length is 1 more than twice its width, find the length and width of the floor.



27. What is the smallest of 3 consecutive positive integers if the product of the smaller two integers is six less than 6 times the largest?
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Solve using the Quadratic Formula - Leve

1) n?+9m+11=0 2) 5p*-125=0
3) mE+5m+6=0 4) 2x* —4x-30=0
Solve using the Quadratic Formula - Level 3

5) 62~ 125+10=-10 6) 67 ~5r—4=7

7 1x1-16=6 8) 6% —10n-16=3

Solve using the Quadratic Formula - Level 4

9) 4> —22=-10a 10) 45=12n

1) 52 -2-v= 12) 4x?-5x-3=2

Solve by Factoring - Level 2

13) P2 +6p+5=0 14) K2 - 8k=0

15) x> = 7x=0 16) a®+5a=0

Solve by Factoring - Level 3

17) 6n% +5n-25=0 18) 2x* —11x-21=0

19) 10 +75-+140=0 20) 60m® +4m—160=0
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Solve by Factoring - Level 4

21) 42— 17x+10= 22) 223 +13n+19=4

23) 5P +3=—16v 24) 2067 - 406 =25
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